What is the transit depth (a unitless ratio that the textbook calls delta-F/F)?
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What is the radius of KELT1b in meters and in Jupiter radii? feonn 100
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What is the mass of KELT1b?
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Is KELT1b a planet, a brown dwarf, or a star?
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What is the density of KELT1b?
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Figure 5. Points show the relative flux as a function of time from transit (7¢)
for the six sets of follow-up observations of transits we analyze here. The data
sets are labeled and summarized in Table 2. The data are normalized by the
fitted out-of-transit flux, and a linear trend with air mass has been removed (see
Section 5.2). In addition, aas been applied to each light curve
for clarity. For each observation, we plot the gata above and the residuals below.
In all cases, the solid lines show the model fit from the analysis in Section 5.2.



